P SR E R SR (25411 A8H~13HHRAE)

WatHRE (1 Sv/h)

NO | HhRES REERSA 7 XigfE
cm 50cm 1.0m
1 A—4 BARIHEAO 0.50 0.52 0.48 =1
2l B—3 |[#AMKIEE 0.53 0.47 0.42 =1
3] B—4 [E/RiE{HE 0.83 0.39 0.32 BEh
4 B-—5 [HHEARSE 0.40 0.42 0.38 Bh
5 B—5 |[athdhAEEE 0.37 0.37 0.34 BEh
6] B—5 |RIR(ER){A 0.32 0.20 0.19 B
7 B—5 KM {HE 0.18 0.17 0.17 BEh
8 B—5 |FEEER 0.57 0.44 0.37 BEh
9] B—6 [THHALAERME 0.46 0.38 0.32 ED)
100 B—6_[FHJIfHE 0.26 0.23 0.21 ED)
11 B—6 [FEERESEREO (FO) A 0.14 0.11 0.11 £
12| B—6 EJJ?(IEI#%? ) ik 0.45 0.33 0.30 BEh
13] B—6 [dLgifhi 0.58 0.37 0.33 =1
14| B—6 |FHABHME 0.60 0.52 0.31 =1l
15 B—6 |H/BRAREERD 0.64 0.46 0.38 B
16] B—6 [KIRELEFHE 0.24 0.25 0.19 B
17 B—7 |/NHEEFHIR(EXRATENEFi) 0.41 0.30 0.33 =1l
18] Cc—3 [FAHEMRAO 0.38 0.34 0.33 =1
19] Cc—3 [#/Af=HithAOfHE 0.21 0.32 0.33 =1
200 C—4 |#EBOLMKA 0.61 0.40 0.33 =1
21 C—4 | FPEXBFHEE ) 0.42 0.26 0.23 £l
22| C—4 [|BABEfE 0.52 0.35 0.29 B
23] C—4 |FXTI—2E29o (BB (1) 0.24 0.23 0.21 £l
24| C—5 [BEENERfE 0.68 0.40 0.33 BEh
25| C—5 |ALEH#FHE 0.48 0.45 0.41 B
260 C—5 | K% 1.62 1.20 0.89 Bh
271 C—5 [TrEAEH#NA 1.01 0.50 0.39 BEh
28l C—6 [5oFELE 0.38 0.33 0.31 =1
29] C—6 [EHALNELER 0.32 0.28 0.28 =1
300 C—6 |[HBLUIXEMHAO 2.09 0.68 0.46 ED)
31 C—6 |[HBluTI EMihEKth ki ELm 0.78 0.48 0.42 B
32 C—6 |[LATULAEE] 0.45 0.37 0.29 £l
33)] C—6  |MEBAFMHA 0.39 0.30 0.26 =1l
34| C—6 |FEEFREEEIHIZHTH 0.57 0.40 0.32 £l
35| C—6 |IUTREENE FI—(EAH) 0.12 0.16 0.14 £l
36| C—6 [|[IUTESEERER 0.47 0.36 0.31 =1l
37l C—7 [INAnNAVEB 0.45 0.37 0.32 =1
38] C—7 [KEAKAEEE) 0.58 0.51 0.44 =1
39] c—7 |IHEREZEK 0.46 0.30 0.22 =1
40] C—7 |[{EMFEERIEF{TIAZEH 0.34 0.34 0.29 =1
41 C—7 |EBFEHAEMMA 0.51 0.46 0.37 £l
42l Cc—7 [HhLUBEEAHE 0.62 0.48 0.38 £l
43| C—7 |[EhEih (BiE15) 0.36 0.37 0.38 =)
44| C—7 | XKFEHIMFhHE 0.60 0.39 0.32 =1
45| C—8 |[BEBR(GhfE) 0.42 0.38 0.35 £l
46| D—2 |JU—ryyRCCAO 0.47 0.57 0.53 £l
47 D—3 [PAXFE®E 1.60 0.92 0.71 £
48] D—3 TR 0.40 0.38 0.37 ED)
49| D—4 |[EBGERDfHE 0.47 0.36 0.31 5
500 D—4 |EAE;Z/ AR 0.30 0.32 0.29 5
51 D—4 | EBPAXAREE 0.20 0.21 0.23 D)
520 D—5 |[FhEEERHE 0.66 0.32 0.27 ED)
53] D—5 [EEE/INFR (BIEFHED) 0.44 0.33 0.26 BEh
54| D—5 [BE/NEREEd] 1.02 0.69 0.54 5
55| D—5 |IHEMZ2AREEHI 0.54 0.48 0.43 ED)
56| D—5 |BEmBAQOfHR 0.37 0.38 0.33 ED)
5711 D—6_ |{fARYILI SR 0.10 0.12 0.14 =1
58 D—6 |HFH—TU2E 0.21 0.15 0.12 =1
50 D—6 | EirOEMA 0.42 0.28 0.27 =1
60l D—6 [A+X5sA+FI 0.53 0.42 0.29 £1)
61 D—6 |HhEEISEHEithA 0.68 0.51 0.42 £1)
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NO HEES AR BEtHEE= (1 Sv/h) KiEE
1cm 50cm 1.0m

62| D—6_ |FaEs EEBkIS 0.42 0.46 0.34 ED)

63] D—6 |EHW=—a—437  (E) 0.28 0.25 0.26 ED)

64f D—7 |EHEAREFE 0.36 0.31 0.30 ED)

65] D—7 |EHFEREHEUVE 0.16 0.18 0.17 ED)

66/ D—7 [|/NHEREMK 0.38 0.50 0.49 ED)

67 D—7 |Z)l|ihiz 0.40 0.35 0.31 N

68| D—7 |ERULEE400mAEftia 0.24 0.28 0.25 INF

69| D—7 |FEHERAO 0.54 0.39 0.36 N
700 D—7 [EEBEEAE 0.33 0.31 0.25 ED)

71 D—7 |VIAAERTE R A 0.27 0.38 0.31 IR

72| D—8 |FEIIFHEHIR) 0.25 0.23 0.23 IR

73 E—2 |WFHEMME 0.68 0.49 0.40 ED)

74| E—2 |EZFHEFBK 0.92 0.43 0.35 ED)

75| E—3 |BR/EDihigE 0.45 0.43 0.34 5

76| E—4 |[BEAREEH 0.18 0.17 0.14 ED)

77 E—4 |IHER/[R/NREERD 0.54 0.45 0.37 5

78 E—5 |FRRALFHE 0.27 0.28 0.29 %U

79 E—5 |8k 0.43 0.31 0.25 ED)

80 E—6 |—OX#K 0.58 0.43 0.34 ED)

81 E—6 | EEFER=FERmTE 0.61 0.42 0.34 ED)

82 E—6  |/NEEHI~ s AH#A 0.75 0.60 0.43 =)

83] E—6_ | KBOEYISUF 0.48 0.45 0.41 ED)

84| E—6 |[EEGEIHFAAA) 0.67 0.50 0.43 INFR

85 E—7 |FRERESEM R 2.22 0.85 0.54 IR
86| E—7 |EHEIMSAIEHAI 0.61 0.38 0.39 N
87 E—7 |ERAREEHI 0.18 0.17 0.18 IR
88 E—7 |ERARERHFIRME 0.44 0.32 0.27 IR
89| F—4 [f/itfha 0.56 0.42 0.39 5

0| F—4 |HREBREZELS— %fiiaﬂzﬂ 0.12 0.15 0.13| £ (BihBz
91 F—4 |AESZABUtE2—d] 0.51 0.33 0.30 ES

92 F—5 [BAMA#A(R289H/5500m% LFKE) 0.42 0.35 0.29 BEn
93 F—5 |ZERARER 0.45 0.40 0.35 Bh
94 F—5 |®Bt A2—ZEAI 0.77 0.46 0.34 BEh
95 F—5 |ZIERPIGHRBIEYA/0th 0.33 0.26 0.25 BEh
%6 F—6 |&LEEKHAO 0.31 0.34 0.28 N
97 F—6  |FIEHISET FIR 0.54 0.36 0.29 IR
98| F—6 |EBIRN\REH{TE 0.20 0.25 0.28 INFR
99 G—1 LTEZF (@ -XEXIE) 0.21 0.19 0.18 B
100 G—3 |FAEAX LEIEHIG 0.22 0.22 0.20 BEh
101 G—4 |EFEKGRERGFEISI{TIR) 0.38 0.34 0.28 ED)
102] G—4 |EEEHHAE 0.15 0.15 0.16| =Y (BuhbrE)
103] G—5 [HREHAAHCCEI&EHIF{tir 0.31 0.24 0.20 Bh
104] G—5 [EIFLEEEHhE 0.49 0.34 0.33 B
105 G—6 | XEBHEEEHR 0.17 0.17 0.19 N
106] G—6 [BEHFTFE 0.33 0.26 0.24 IR
107 H—3 B 3 4 R ik 0.22 0.19 0.21 Bh
108 H—4 |EBECAHIXLEZE 0.15 0.14 0.16 in(#ﬁ 1cm)
109] H-—5 Eﬂ’n#ﬁﬂ%ffﬁﬁ CHNERN) 0.21 0.24 0.20 BEh
110] H—6 [KERIFEH#DE 0.21 0.20 0.20 N

111  1-3 [FanaA M (E) 0.21 0.20 0.22]| EYFEE5cm) |
112 1—4 BFERICYHRTILAORME 0.22 0.16 0.18] EYFEScm)
113 1—4 BADER () 0.09 0.07 0.07 BB
114 1—4 HRORX v JHAO 0.24 0.20 0.17 BEh
115 1—4 A ELERRH L AR R A5 m CKE S ) 0.16 0.15 0.15 Bh
116 J—5 |FELEIHEIF 0.09 0.09 0.08 Bh
117] K—=8 [BFbRILAOEIES 0.11 0.12 0.15| EYFEZE8cm) |
118 K—3 R IWIIUTE — — 0.06[ F5EH (10/29)
119] K—3 [BEAEfHHE — — 0.05] EEH (10/29)
1200 K—3 |KEREHIF{h 0.16 0.13 0.13| E(FEE18cm)
121 K—4 IHI’E,EE. — — 0.16 11/9
122] K—4 0.06 11/9
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